| Efficiency vs Dxy |
0.5
<

1900 T O O O O O O A W
NENEEEEEER
o e e
Q : : : : : : : : :
K ] A S R R
T T e e
028 b
0.2
O

effi

T e
005
o+

Rati

09 56-156-10 =5 05 10 15 20 25

TP dxy (cm)

—— DQM_mKFit_TToriginal
— —e— DQM_mkFit_TTNEWnoMS-genMatch-CUT2
| Efficiency vs Dz | | . pSM mkFit TToriginal-106

V4
=
N

—.— DQM_mkFit_TTNEWMS-genMatch-CUT2

=
!
'

efficiency vs d

©
o)
T
——

....................................................

o
D
T T T
—t

...........................

0.4

o

Il

30 20 -10 0 10 20 30
TP dz (cm)




	Contents
	Page 1


